
40.1334 FW
D

Material: Steel

2 4

4

4

2 4

8

4 8 Шайба 12

Основные комплектующие изделия
№ 40.1334

Наименование НаименованиеВид ВидКол-во Кол-во№ №

M10 = 47 Nm

Болт M8x20 

Гайка М12  

Шайба 10

Гайка М10 

Шайба 8

КАНТОВАТЕЛЬ

3

4

5

6

КАНТОВАТЕЛЬ

M8 = 24 Nm

M12 = 81 Nm

9

10

7

8

Болт M12x80 

Болт M10x30 

Болт M12x120 

М12х120

М12х80
М10х30

М8х20

М10

М12

М12

192019 г . СПб ул. 2-й Луч, д. 16, тел:    (812) 335-05-25 192019 г . СПб ул. 2-й Луч, д. 16, тел:    (812) 335-05-25

4 Шайба 8G


